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QUESTION 1

In Ethernet Routing Switch (ERS) 5600 switch was added into the existing ERS 5500 stack, but ft did not form a proper
stack. Which statement describes the problem?

A. The ERS 5600 was set as the Base Unit.

B. The stack was reset for a change in Base Unit to take effect.

C. The mode parameter on the ERS 5600 switch was set to Mixed Mode.
D. The ERS 5500 was set as the Base Unit.

Correct Answer: D

QUESTION 2

Avaya recommends using RSMLT edge in place of VRRP with Backup Master, when available what are two valid
reasons for using RSMLT edge? (Choose two)

A. the VRRP hold down timer cannot be set high enough to update the complete routing table when Layer 2 access
requirements are high.

B. RSMLT edge provides support for application where more than 255 redundant default gateways (VRRP limit) need to
be provided.

C. RSMLT edge allows the cluster to be configured to discard untagged frames in 1ST and SMLT ports.
D. RSMLT edge is easier to configure and lightens the CPU load,
E. RSML T dynamically balances the CPU load across the switch cluster.

Correct Answer: BD

QUESTION 3

During the installation of the unified access solution, the IP address of the wireless switch interface needs to be
configured on the ERS 8000. Which IP address must be used in the configuration?

A. Any valid IP address within the management VLAN subnet.
B. Any valid IP address within the unified access VLAN.

C. The switch CLIP (loopback) address.

D. Any reachable valid IP address.

Correct Answer: C
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QUESTION 4

Not long after bootup of an upgraded Ethernet Routing Switch (ERS) 8310, the system hangs. Which statement
describes the cause of this problem?

A. The CPU module was configured in slot 5.

B. An ERS 8600 module was configured in the 8300 chassis
C. The system includes dual 839xSF modules

D. The system was running in full duplex mode.

Correct Answer: C

QUESTION 5

A technician is configuring an Ethernet Routing Switch (ERS) 5520-24T for the edge of the Converged Campus
network. in band communication to edge switch is a customer design requirement. Which two VLANS are acceptable
VLANS to use for the switch/stack IP addresses? (Choose two)

A. default

B. voice

C. data

D. management

Correct Answer: CD
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